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What are the drivers of e-commerce? Explain the
current role of E-Commerce in India.
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Discuss various factors which contribute to the

success of an E-Commerce business.Explain in brief

" the concerns business has to understand, while going

online,
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Explain in brief the working of World Wide Web.What
according to you are the core characteristics of Web
that have helped the propagation of e-commerce?
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What key indicators suggest that E-Commerce is here
to stay?
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Differentiate between symmetric key encryption and
asymmetric key encryption.
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What do you understand about middleware? Explain
the role played by middleware in e- commere.
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What are the different steps involved in Digital Cash
Payment?
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